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QUESTION 1

Which two statements are true about the Web services? (Choose two.) 

A. SOAP messages are compressed during transport. 

B. You must implement session tracking via HTTP cookies. 

C. The WSDL defines services as collections of network endpoints. 

D. All data shared between Java and non-Java components must be in XML format. 

E. Data interchange is standardized in XML. 

F. Stateful Web services must be implemented in a heterogeneous environment. 

Correct Answer: CE 

 

QUESTION 2

Which three can an EJB-based endpoint use? (Choose three.) 

A. HTTP sessions 

B. Java EE 5 declarative security 

C. Java EE 5 programmatic security 

D. client-demarcated transactions 

E. container-managed transactions 

Correct Answer: BCE 

 

QUESTION 3

Which Java type can be used to represent arbitrary XML data in a JAX-WS service endpoint interface? 

A. javax.xml.soap.SOAPNode 

B. javax.xml.soap.SOAPPart 

C. javax.xml.soap.SOAPElement 

D. javax.xml.soap.SOAPException 

E. javax.xml.soap.SOAPMessage 

F. javax.xml.soap.Node 

Correct Answer: C 
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QUESTION 4

A company is refactoring an existing website to use Web services clients. The application retrieves lists of parts and
displays them to the users in a browser window. Previously, the data was stored as files on the web server and, in order
to access the files, the user would simply click on a hyperlink. Now the data must be dynamically generated via a
service that another developer has created. They want the easiest way to refactor their website to use Web services.
Which three technologies should they use? (Choose three.) 

A. SOAP 

B. REST 

C. Javascript 

D. XML 

E. JSON 

F. Java 

Correct Answer: BCE 

 

QUESTION 5

Which three statements about parsers are true? (Choose three.) 

A. SAX and StAX are bi-directional. 

B. DOM and StAX are bi-directional. 

C. StAX is a push API, whereas SAX is pull. 

D. SAX is a push API, whereas StAX is pull. 

E. SAX and StAX are read-only. 

F. SAX and DOM can write XML documents. 

G. StAX and DOM can write XML documents. 

Correct Answer: BDG 
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